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Section 1 - General Aptitude-English Subject

1) Synonym of vent

A) Wet
B) Dent
C) End
D) Opening

2) Rearrange these parts labelled A, B, C and D to make
a meaningful paragraph, and choose the most
appropriate answer.

A. One of the beauties of Leo Tolstoy’s novel 'War and
Peace' is that it does not end when the war ends.

B. It ends instead when the hero gets married, and settles
down to a life of routine, even boredom.

C. In conveying this ceaseless ebb and flow of life, Tolstoy
captures its very essence.

D. Concluding it at the moment of heroic drama would have
destroyed the integrity of the novel.

A) ABDC
B) CABD
C) ADBC
D) ABCD

3) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error": | visited Ricky's
and Maria's house (1) / twice but didn't (2) / find the
couple. (3) / No error (4)

A) 1
B) 2
C)3
D) 4

4) Read the passage below and answer the question
that follows :

The ravages [of the storm] were terrible in
America, Europe, and Asia. Towns were overthrown,
forests uprooted, coasts devastated by the mountains
of water which were precipitated on them, vessels cast on
the shore, whole districts leveled by waterspouts, several
thousand people crushed on land or drowned at sea; such
were the traces of its fury, left by this devastating tempest.

What is the meaning of the word leveled as it is used in
the passage?

A) razed
B) marked
C) spread
D) raised

5) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

This is in_ vogue in some communities.

A) in fashion

B) out of use

C) vaguely used
D) never used
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Section 2 - General Aptitude

6) Mrs.Veena wants to go to the Krishna Rajendra market.
She moved northwards and after covering some distance
turned left and moved 4 km and reached a crossing. The
road in front of her led to Jaynagar while the road on to her
left led to Bangalore Medical College and the road on to
her right led to the Krishna Rajendra market. In which
direction the Krishna Rajendra market is located with
reference to the starting point?

A) West
B) North-West
C) South-West
D) East

6) A IO, FEUM Tolg SR F AT AR & | T8
3R AT IR T8 AR FT g ¥ WA & 9 95 IR
A AR 4 km T R TF FRT W A | 3EH
AH HT TEoh ATAIR T 3R Al o Safd 3T a8
3R Fr Tsh SR ARFA Flaer fT 3R Far o0 3R
3HS alfgell R T HSh FOUN Usig deR T AR AT
& | e foig @ Fom Tely SER fRE ferm & fRud
g2

A) gfgH

B) 3caR-afRea
C) efgror-gfRas
D) q§

7) A man's speed with the current is 15 km/hr and the

speed of the current is 2.5 km/hr. The man's speed against
the current is

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

7) 9RT & AT Teh ATGAT T Ifd 15 km/hr § 3R 9RT &r
afd 25 km/hr § | 9T & faseyr 3meeT @ afa &= gl

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

8) is a numerical label assigned to each
device participating in a computer network.

A) E-mail address
B) Topology

C) FTP

D) IP Address

<) [ Teh HEACHE odel § Sl g dAcas &
YA 30T A fear ST §

A) $-Aa e

B) 2rarairstr

C) Ty

D) 3méedy gar

9) If GOODNESS is coded as HNPCODTR, then how
GREATNESS can be written in that code?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT
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9) If& GOODNESS &I HNPCODTR & ¥4 # &Hifsd forar

ST &, @ GREATNESS &1 3§ #is § & fo@r &
Tl & ?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

10) In November 2021, ................. hosted the first fully
digital Asia-Pacific Economic Cooperation forum.

A) New Zealand
B) India

C) Canada

D) Australia

10) sdsk 2021 #, fhd U & Tgell SR G Re 4
f3fSteer vRIar-gend 3 @galer # @1 AEml @

A) sggiets
B) ;g
C) grer
D) sifeferam

11) Green India Mission was launched in 2014. The
primary aim is to

A) promote green energy in India.

B) promote techniques that will help in the optimum
utilisation of resources.

C) protect, restore and enhance India’s diminishing forest
cover.

D) None of the options.

11) gRd R AT 2014 & & Fhar r a1 | sqH
TTUTAE 3662T AT ¢ ¢

A) R & gRa Fell Y Ferar &

B) 55 aeeiien I Ferar S S HEE & I
3UAET H A Hl

C) #iRa & g o &F &1 Tam, qaedivs R gefar
AT

D) ;& faeheq &

12) Headquarters of World Trade Organisation

A) Washington DC, United States
B) Geneva, Switzerland

C) Paris, France

D) Vienna, Austria

12) faeg =GR HareT T HEITT gl ¢ :

A) arfieTest S, YFd T AR
B) Sefiar, Raeerels

C) afkw, wiw

D) fawam, 3iifegar

13) In an election contested by two parties, Party D
secured 12% of the total votes more than Party R. If party
R got 132,000 votes and there are no invalid votes, by how
many votes did it lose the election?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

13) @ &ell G@RT oS AT FaArd A, 9éf D F urdf R & el
aret &1 12% 3f¥e grea foear | afg arét R & 132,000

die e 3R I IAGT die FET g, o fhaa aet ¥ 9
AT R ?

A) 300,000
B) 168,000
C) 36,000
D) 24,000
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14) The following series is based on a specific pattern. Find
the next number in the pattern.

5,12, 23,50, 141, ?

A) 415
B) 430
C) 439
D) 488

14) fFafaf@d Hger v fafRise Yeot W amaRa § |
Ul & 30T AR Giot |

5,12, 23, 50, 141, ?

A) 415

B) 430

C) 439

D) 488

15) Which of the following is the Civilian award conferred
as 1sdegree of honour?

A) Padma Vibhushan
B) Ashoka Chakra
C) Kirti Chakra

D) Bharat Ratna

15) frfaf@d & @ Fla-a1 AERe &R Fdted
HFATT & T H Yl fram Srar g 2

A) gegr fysgmoT
B) 3reie ush
C) it o
D) iR T

16) A man sitting in a train which is traveling at 50 kmph
observes that a goods train, traveling in opposite direction,
takes 9 seconds to pass him. If the goods train is 280 m
long, find its speed in kmph?

A) 60
B) 62
C) 64
D) 65

16) 50 kmph & ifd & o W ¢ & d3T T ST
gudr ¢ & RQuda Gar & Id W T AR 3/ U
I H 9 AHs & AT oIl ¢ | IG ATe@msr 280 #Hiex
e §, ar 396 Afd kmph & F1a AT

A) 60
B) 62
C) 64
D) 65

17) When 0.36 is written in simplest form, the sum of the
numerator and the denominator is :

A) 15
B) 34
C) 64
D) 13

17) S 0.36 & TWerdd ¥ F for@r srar g, ar 3ier 3k
& I AT fohder grem

A) 15
B) 34
C) 64
D) 13

18) If 17t March 2008 was Monday, what was 1st April
2012?

A) Sunday

B) Wednesday
C) Friday

D) Saturday

18) Ifg 17 AT 2008 H THAR T, @ 1 31¥er 2012 Hr
FqT a1 ?

A) e
B) qerame
C) aar
D) erfear
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19) There are 24 students in dance class, and the teacher
is planning for an arrangement of students on stage.
Sampratha is 9th from the left side of the row and
Supreetha is 22nd from the right side of the row. Find the

number of dancers standing between Sampratha and
Supreetha?

A) 4
B) 5
C)6
D) 7

19) Teh 3JcT HeM H 24 o ¢ 3R Rgth #T ® oHE &
TIGTAT HfT AT §o17 QT § | TIAT dfFd & a8 3R
¥ ald T W AR gohar dfFd & @ 3R @ 229
WA W R | Fuar 3R ghar & dg @3 Adieat f
HEIT AT ST

A) 4
B) 5
C)6
D)7

20) A merchant can buy goods at the rate of Rs. 20 per
good. The particular good is part of an overall collection
and the value is linked to the number of items that are
already on the market. So, the merchant sells the first good
for Rs. 2, second one for Rs. 4, third for Rs. 6...and so on.
If he wants to make an overall profit of at least 40%, what is
the minimum number of goods he should sell?

A) 24
B) 18
C) 27
D) 32

20) T SOORT 20 T Gfd ¥ HT X d AT Tie
THT § | 98 Al GHAT Aol &1 foeamr § 3R Ao
31 GEQIT A TE F ST g3 S Y W & AR A
¢ | safdu, SOl ugd AT & 2 FYC H, qEY A 4
TqU A, I 1 6 TAT A . R W Wg ST § | IR
aE ol ARG 7 A F 40% T AT FACT a6 8,
an, 39 &A & FF fhdar A d9ar g ?

A) 24
B) 18
C) 27
D) 32
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Section 3 - Electronics

21) In a Microprocessor, wait states are used to

A) Make the processor wait during a DMA operation

B) Make the processor wait during an interrupt processing
C) Make the processor wait during a power shutdown

D) Interface slow peripherals to the processor

21) GEAThAS H | GG IJaEA3T HT T R
fohar ST &

A) STAT YiFAT F NI TFHE I TN Fa HaT

B) 3{coRraeT qEEHIOT & NI UhHS HI GNET et
T

C) fasrel 3mqfd dg &t & R Usped @ weheT
Ll hiT

D) ysraes T i TEde 3USRUT HcTheld HhiaT

22) As per International Standards Organization’s Open
System Interconnection (OSI) seven-layer model, which of
the following layer establishes a correct protocol for
communicating with the layers above?

A) Transport layer
B) Network layer
C) Data link layer
D) Session layer

22) FSET ATH HIGA H Gl TOTen  HAHTH
(3TH3ME) H-R AT F 3R, Fefafaa F @
FIAT-W WT IR A Wl F TT FAR A ST Th
3faa dereia Tafia & & 2

A) grarara W
B) srer wa
C) gy 8 wa

D) g3 «a

23) A NAND gate is called a universal logic element
because?

A) ltis used by everybody

B) Any Logic function can be realized by NAND gates
alone

C) All the minimization techniques are applicable for
optimum NAND gate realization

D) Many digital computers use NAND gate

23) T =103 I Hl T AaHAF dF dca FaT gl Sar
g

A) sgHT SEIATT &Y FIS T &

B) fei #ff O 1 @ I A8 IR GaRT fAsanied
foram S HepaT ¥

C) 3ol #vs @R Wiftd &fow @l FgEoT
eheileh oIT9] &

D) w5 f3fSicer Fogex #Avs gaR 1 I9AT F=A §
24) As per Sampling Theorem

A) The sampling frequency must be at least twice the
highest frequency present in the signal.

B) The sampling frequency must be equal to the highest
frequency present in the signal.

C) The sampling frequency must be one half of the
highest frequency present in the signal.

D) The sampling frequency must be equal to the lowest
frequency present in the signal.

A) giaaas 3mgfy Fha 7 Hiog Ioaan Ry & &
¥ HA I g AT

B) yfqaast 3mgfy wha # HAeg ITaaw IR &
T gl =rfgw

C) yfamast 3mgfr Fha # Alsg ITadw mgfy # 3w
gl arfeT

D) gt 3mgfe @%a # Aleg wgead IR &
TR grelr anfgw
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25) The Op- amp comparator circuit uses

A) Positive feedback

B) Negative feedback

C) Regenerative feedback
D) No feedback

25) Op- amp defeteh IRTY fhepr 3UTNT I §

A) FRTeHS Sfagfte
B) sremreaa wfagfee
©) geraifelt wfgfee
D) g wfergfee =@t

26) Sensitivity of LVDT is mainly due to ?

A) Magnetic shielding of the core

B) Permeability of the core

C) Exact cancellation of secondary voltages
D) Insulation used in winding

26) TS & Hdeafedr HEAT: fhad FHROT gl §

?
A) B 7 e aRTETT
B) sk & gmereTar

C) ArcafAs diecst &1 TH TEgIoT
D)g;gmﬁ ugeFd faegerre

27) A diode has a maximum power dissipation of 0.5 W.
What is the maximum DC current allowed in the forward

direction if we allow an approximate voltage drop of one
volt?

A) 0.5 A

B) 0.05 mA
C) 0.05 A
D) 0.005 A

27) U& 3RS # e afed 3geqdr 0.5 W | IfE &
TF dlec &I AT dlodel Hed &I ATT & ¢ o,
31 e & IRAH A feseuRT fohder g :

A) 05 A

B) 0.05 mA
C) 0.05 A
D) 0.005 A

28) A decade counter needs:

A) 10 flip flops
B) 4 flip flops
C) 5 flip flops
D) 2 flip flops

28) Ueh GAS HI3cX DI fhadhl AT ¢ :

A) 10 fFeT wrairg
B) 4 @ wallq
C) 5 T waira
D) 2 e wellq

29) Which of the following is TRUE about a communication
system?

(A) Increasing the rate of message transmission increases
the distortion or error.

(B) Increasing the rate of message transmission decreases
the distortion or error.

(C) A noiseless channel is both lossless and deterministic.
(D) A noiseless channel is lossless but not deterministic.

A) Both (A) and (D)
B) Both (B) and (C)
C) Both (A) and (C)
D) Only (A)

Page7ofl4



Set Id : 73907_3

11-12-2021 B2 LIVE_11DEC2021 Electronics

29) TIR Yol & aR # Aeafaf@a & & sia-ar s
e E 2

() A HEROT HT X dead & fapfa a1 e 9@ el ¢ |

(@) | HROT &I &T d64 & APl a1 e %o g S
g

() TF NG dier aRfed R FadeAs aet g § |

(&) Ueh ARG Uelel ATRIE ¢ olfehel foiacresss =I&r |.

A) & )R (@)
B) (@) 3 (1) at
C) @) 3tk (a1) =t
D) Faer ()

30) When the phase velocity of an EM wave depends on
frequency in any medium, the phenomenon is called?

A) Scattering
B) Polarisation
C) Absorption
D) Dispersion

30) 5@ foRelr Suw aReT @ WOT o foRelT mmeme A
Mg oY AR T 8, o, 38 FAT gl STl § 2

A) fera

B) W
C) 3raeisor
D) afvgigor

31) The V-I characteristics for a Triac in the first and third
guadrant are essentially identical to those of in
the first quadrant.

A) Transistor

B) SCR

C) Uit

D) None of the options

31) uga 3R AW T A TH gEE  FfAr Vvl
AAVAT A &0 @ vged TUier F e @@= gren

A) ziftreex

B) waiam

C) oy

D) g e A8

32) The number of interrupt lines in 8085 is ?

A) 2
B) 3
C)4
D)5

32) 8085 H 3cRTIT IW@T3T Hr F&AT fohcdar grefr 2

A) 2
B) 3
C)4
D)5

33) Which one of the following can be achieved by using
the reset terminals in a turner chip?

A) keyed oscillations

B) delayed monostable action
C) square wave generation
D) pulse generation

33) o’ g & e cfFaai &1 3uaeT e AeAfaf@d
@ Far groa fRAm ST Ghar § 2

A) §g grae

B) facifed Aleeasr Fars
C) et e 3curest

D) qeq 3cdmest

Page8of14



Set Id : 73907_3

11-12-2021 B2 LIVE_11DEC2021 Electronics

34) The blind speed of an MTI radar can be avoided by
changing the

A) carrier frequency

B) pulse repetition

C) antenna retention rate
D) transmitted power

34) THANS WR & AT I H Ry gl F a1 o
e § :

A) arge 3R

P) oo g

C) vdar wfaemor &3
D) 9fya afea

35) Most commonly used materials as photo cathode for
the photo electric emission are:

A) Barium and Calcium
B) Cesium and Rubidium
C) Arsenic and Boron

D) Thorium and Tungsten

35) TFfaf@a & & g fegd 3cqele Hfaw yeprr
FNET F T H e ¥0F sTdATT H SAarer T
FTE

A) IRTe 3R Hfevrw
B) dfawsr 3k sRfzww
C) srdfae 3R sk
D) aiftmsr 3R doreee

36) In pulse modulation system with any modulation, all the
transmitted pulses have the same

A) Amplitude

B) Width

C) Spacing

D) Amplitude, Width and Spacing

Page9of14

36) fordly off wfRAfAYTT & Ty e sfafAsor gomel A,
Tsf ORT godt & Far GAET 8T &

A) 3mamH
B) =terg
C) sfeRreret

D) 3o, Aters 3R 3iawTeeT

37) The spring stiffness coefficient k is analogous to

A) capacitance in force-voltage analogy

B) reciprocal of inductance in force-current technology
C) inductance in force-voltage technology
D) resistance in force-current technology

37) AT HORT J0NTH k fhash 36T & :

A) gar-aretst 31T # erfar

B) Sor-amT sie@fahr & 9Rehca @1 IREIRS
C) or-areest e  dRaed

D) wer-mr Stefihy # wfeier

38) An ideal power supply is characterised by:

A) Very large output resistance
B) Very small output resistance
C) Zero internal resistance

D) Infinite internal resistance

38) Ush JTee faegd Jerdr &I faQwar #ar &

A) 9 F3T 3m3eYe Sfere
B)agaiﬁamgtm
C) o 3aRes afery
D) 3riar 3ricafer gfarrer
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39) The frequency of Ku band for satellite communications:

A) 6/4 GHz
B) 14/11 GHz
C) 12/14 GHz
D) 4/8 GHz

39) 39IIE HUR HfT Ku o3 T g farcelr g

A) 6/4 GHz
B) 14/11 GHz
C) 12/14 GHz
D) 4/8 GHz

40) In a communication system, which of the following is

the random variable associated with entropy of a function
H(x)?

A) log P«

B) (-) log P«

C) P« log Pk

D) None of the options

40) T AR JoTell &, Fefai@a & ¥ sia-ar aefes
T TH Tl HerleT H(x) & T ¢ 2

A) log P«
B) (-) log P«
C) Pk log P«

D) 3¢ faeq &

41) A slot line is etched on the ground plane of a microstrip.
Coupling between the slot line and the microstrip, on the

two side of the same substrate, takes place through which
one of the following mechanism?

A) The coupling is magnetic and is the minimum when
they are at right angles.

B) The coupling is electric and is the maximum when they
are parallel.

C) The coupling is magnetic and is the maximum when
they are at right angles.

D) None of the options.

41) Ueh AGHICT & g W Teh Follc ollSel 3l STl

g | Tl asd 3R AHIET & @ oA, Uw &
HITR & & Ro Arafaf@a & & g a7 & aRe
g & |

A) eA dedrr § AR S9 F FHEEOT WA §
A B &

B) goet fagga & 3N GAEIR @ W fswa#d gar
3

C) gore o § 3R o9 9 FAHFOT R @ §
Fhaa g &

D) #1¢ fsheq A&7

42) Whenever the direction of rotation in a gear train is
reversed ,which of the following phenomenon results?

A) Dead space

B) Backlash

C) Coulomb friction

D) None of the options

42) T #f R 3 # goid 1 fGaw & 3o & Sl g
o 38 AT hET S

A) 2w

B) daporer

C) gt T

D) g faeheq ¢t

43) By passing a triangular wave through a differentiating
circuit, the output wave shape is:

A) Spikes

B) Square waves

C) Saw tooth
D) Sine wave
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43) & fadige IRTy ¥ & Py a@ IR &9 |, 45) AFAff@a & @ e s Hfaw Fia-a1 FUT T

3M3EYE TRIT T 3R HAT 9T g2
A) Targs A) & 3R T QT & T ST g iR
B) g% oo B) Sigeret oR 3@atdr TR AW §gd I §
C) 3mr &a C) eoier 3R ABHIAT arelehl 3R yatiedl & 3uanh §
D) 591 a@r Fifh T FASNcAS Ty fAAwanst w1 geiRia
AT &
D) @sfr fasreq
44) Transfer function of a system is characterized by
A) Zero initial condition and dependence on input . ) . "
excitation 46) In a semi-conductor diode, the barrier offers opposition
?
B) Zero initial condition and non-dependence on input o
excitation A) Holes in the P region onl
C) Given initial condition and dependence on input . 9 . y
excitation B) Free electrons in N region only
D) Given initial condition and non-dependence on input C) Majority carriers in both regions
excitation

D) Majority as well as minority carriers in both region

44) SOTI & 37T S &7 fAdwar & § 46) 9IS A, V¥ Fas [y Hr e

AT § 2
A) = sRfeE fRafa 3R s 3edere X fAeRar
. A ¢
B) o MU AR sge sedeRm WA - AEER UL
far B) %aer a7 & Ua HFd Soacie
C) yeea wRffs Rufy 3R saqe caetem W AR C) aett et o wgHEEs aww
D) yeea wifdr Rufd 3R sqe e W R- D)aﬁm:ﬁa@msﬂ?muﬁrymmm
IGETGIT
45) Which of the following is TRUE for a tunnel diode? 47) A polarized electrolytic capacitor can be used
A) The doping of both P and N regions are very high. A) ley n smu.smda-l cwcmts. )
. . . S . B) in dc and sinusoidal ac circuits
B) The depletion layer barrier at the junction is very thin. ) onlv in de cireu
C) The tunnel diode is useful in microwave oscillators and ) 9”3( n ) ¢ ClrFu'tS )
amplifiers because it exhibits negative resistance D) in circuit having any arbitrary waveform of current
characteristics.

D) All of the options.
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47) T Ydiehl Tdegd ques FUMRT &7 39T fohast
foram Srem -

A) g saghT g9y #
B) et 3R SuadT yeatadt T gt

C) Saer Eseury aRuy
D) eIt & &S AHAET 9T glevarer aRay

48) Point on the satellite orbit closest to the earth

A) Apogee
B) Perigee
C) Prograde
D) Zenith

48) gedy @ foishedd 39arg et fog @1 ¢ :

A) 35y
B) 33y
C) grars
D) ofr§ fig

49) In CRT, aquadag carries

A) aqueous solution of graphite
B) sweep voltage

C) secondary emission electrons
D) none of the options

49) WIHRE H TFATSIT FIT dgd Tl &

A) AwTse FT TN e
B) g areest

C) efacias 3o goagid
D) g fasproq w7Et

Pagel20f14

50) In the two wattmeter method of measuring power in a
balanced three phase circuit, one wattmeter shows zero
and the other positive maximum. The load power factor is

A) Zero
B) 0.5
C) 0.866
D) 1.0

50) U Hdfed FBhe uRuy & oaffqd A & oar
areefieY fafr &, v At lier e R qEr 3if¥edH
qiforela fe@rdr &, o, SHerr IR rfeh J[uTieh fehctell 1T :

A g
B) 0.5
C) 0.866
D) 1.0

51) UHF signal normally propagates by means of:

A) Sky wave

B) Space wave
C) Surface wave
D) Duct

51) JUATH Hohd WA & & fhas FRT gaRa grar
&

A) =T T

B) siafer adar

D) arfeeir

52) Which of these adjustable frequency drives has best
power factor?

A) PWM
B) Square wave

C) Csl
D) All of the options
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52) Afaf@d aRadl 3mafa sea & ¥ gafcaq afFa 55) The Q factor of a coil is given by

FRF e § : A) WLR

A B) RC
KR\ C) VC/L

B) @ oer w9 D) \L/C

C) drwasms

D) st @af fashed 55) &5el &1 AUIaccT &R Q forass ganT fam S & ¢

A) wL/R
53) Fidelity, in communication receiver is provided by: B) RC
. C) VCIL
A) Mixer stage D) \L/C
B) Detector stage

C) Various amplifier sections
D) Audio stage

56) One of the main functions of the RF amplifier in a
superheterodyne receiver is to?

53) TOR & F TR fRed ganT vereT A S § A) Provide improved tracking
) B) Permit better adjacent-channel rejection
A) faysroT =ROT C) Increase tuning range of receiver
B) D) Improve rejection of image frequency
S¢FeT TWIOT
C) Rfger yads @s
D) steqr =or 56) UX- FUSSA AR H IRUG Jadehi & H&F Hrdf
H O T FAT g2
54) Typical radar antenna has a beam width of: A) dgax ERFT saTeT FeT
A) 5° B) dge et Aoter IEAFiA B gAY e
B) 3° C) R &1 ggfeler T aerem
C)2° D) ofy smgfar &1 sdipfa & gur Fer
D) 1°
57) The intrinsic stand -off ratio for a UJT is determined to
54) fafdse TR TEAT T e AerS fhder gt & be 0.6. If the inter -base resistance (Reg) is 10 K ohm what
are the values of Rs1 and Rea.
A) 5° .
B) 3° A) 8 K Ohm and 2 K Ohm respectively
C) 2¢ B) 7 K Ohm and 2 K Ohm respectively
D) 1° C) 6 K Ohm and 4 K Ohm respectively

D) 5 K Ohm and 3 K Ohm respectively
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57) goi&l HfIT ITARe® T-3h 3qard 0.6 feiRad D) 6.28 pF
frar = § 1 3f IR-3mR gfey GmEe) 10 K
ohm &, d, 3R 3R 3RE2 FT AT FIT 8ET

60) The maximum output power of marine VHF is limited to
A) %HeT : 8 K Ohm 3R 2 K Ohm

A) 10W

B) s#er : 7 K Ohm 33X 2 K Ohm B) 100W
C) 50W

C) &9 : 6 K Ohm 31T 4 K Ohm D) 25W

D) sarer : 5 K Ohm 3R 3 K Ohm

60) TS dTaUh T AHFAR 3cUe AfFd fFdal dh

58) What height must a satellite be placed above surface of ofaa &
the earth in order for its rotation to be equal to earth’s
rotation?

A) 10W
A) 26,426.4 miles B) 100W
B) 27,426.4 miles C) 50w
C) 23,426.4 miles D) 25W

D) 22,426.4 miles

58) dl & U & SN El HiAT IYIPE HI gL &
Adg ¥ fhasr FA$ 9T @1 AT A1fge ?

A) 26,426.4 Hrel
B) 27,426.4 #rer
C) 23,426.4 #rer
D) 22,426.4 #er

59) A Wein- bridge oscillator is used for operation at fo=10
kHz. If the value of R is 100 k Ohm, find the value of C.

A) 159 F

B) 159 pF

C) 628 micro F
D) 6.28 pF

59) Toh del-H aleish T 3YANT fo=10 kHz T Felelel

FfaT fFar srar & | Ife 3T F1 AT 100 k Ohm §, @,
G T AT g1 HIfAT

A) 1.59 F
B) 159 pF
C) 628 micro F
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Question No. | Answer Question No. | Answer Question No. | Answer
1 D 21 D 41 B
2 C 22 D 42 B
3 A 23 B 43 B
4 A 24 A 44 B
5 A 25 D 45 D
6 B 26 C 46 C
7 B 27 A 47 B
8 D 28 B 48 B
9 D 29 C 49 A
10 A 30 D 50 B
11 C 31 B 51 B
12 B 32 D 52 A
13 C 33 withdrawn 53 D
14 D 34 B 54 D
15 D 35 B 55 A
16 B 36 withdrawn 56 D
17 B 37 B 57 C
18 A 38 C 58 D
19 B 39 B 59 B
20 C 40 B 60 D




